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The children would greatly benefit from knowing key
number facts by heart and recalling them instantly

(e.g. number bonds to 20, tables).




For example, a child who knows the 3x table well would
be able to answer questions like these with very little
hesitation:

9x3, 7 lots of 3, 3x4, 18+3, how many 3s in 24?2

e.qg. I know 5x3 is 15, so I can work out 50x3, 5x30, 150
+5, 500x3, 50x30, 5x0.3, 150 +30...

A suggested order for learning tables:
2x, 10x, bx, 4x (double 2x), 3x, 6x (double 3x), 9%, 8x, 7x



Addition
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Begen to relate addition to
combining two groups of objects

\ Know doubles of numbers ‘




Know by heart all pairs of numbers
with a total of 10 and 20
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Know that addition can be
done in ary order

Put the biggest
number first and
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Know which digit

15+1=16
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Using a rumber line 48 50 84
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Using place value cards and place
value apparatus to partition rumbers

and recombine
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Using a hundred square
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Expanded method

Itis important that the children
have a good understanding of place
value and partitioreng using concrete
resources and wisual images to
support calculations, The expanded
method enables children to see what
happens te numbers in the standard
writtenmethod.
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Standard written method
The previous stoges reinforce what
hoppens to the numbers when they

are added together using more
formal written methods.




Subtraction
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Begin to count backwards in Five fat sausages
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If | take awayv four shells
there are six left

Count backwards
along a rumber line
to ' take away




Begin to use the -~ and = signs
to record mental calculations in
a number sentence

Maria had six sweets and
she ate four. How ma
did she have left?
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Know by heart subtraction focts
for numbers up to 10 and 20

Subtract single digit
numbers of ten bridging

through 10
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Using a hundred square
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Partitioning number to
be subtracted - with
exchanging (links to
counting back on
number line)

|43-27-16|

Expanded method

It is important that the children
have a good understanding of place
value and partitioning using concrete
resources and visual images to

suppert calculations. The expanded
To subtract 7 units method enables children to see what
happens to numbers in the standard

a ten for ten units

written method,
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Standard written method
The previous stages reinforce what 3 x\ 3
happens to numbers when they are

subtracted using more formal 2 7
written metheds, It is important -
that the children have a good .
understanding of place value and 16
partitiorsng.




Multiplication
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Count in tens
from zero
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Know muitiplication tables to 10 x 10 I
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Understand that ...

24 x 20 = 24 x 2 x 10
24 x 50 = 24 x 5 x 10

I Use factors to multiply I
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Use place value apparatus to support
the multiplication of U x TU

4 x13






Division
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Use known multiplication facts to work fben
out corresponding division focts 20+10=2

20+2=10
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Understand division
as sharing

Understand division
as grouping
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Reinforce division as
growping through the
use of arrays




Represent ‘groups’
for division on a
number line using
apparatus

alengside the line
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